
WEB REV 1.25

To register your product, please 
visit: CatalystFence.com.

Read all instructions prior to 
installing product.

Refer to manufacturers safety 
instructions when operating 
any tools.

Installation Instructions
English ...................................................................................1

Français ................................................................................ 5

Español.................................................................................9

In case of a warranty claim, call 888.549.7350.

ALUMINUM FENCE CIRCLES



2 Catalyst™ Fence Solutions

WARNING:
•  Improper installation of this product can result in personal injury. Always wear safety goggles when 

cutting, drilling and assembling the product.
•  Incorrect installation may cause harm to the gate or individual.
•  Not pool code approved.

NOTICE:
•  DO NOT attempt to assemble the kit if parts are missing or damaged.
•  DO NOT return the product to the store. For assistance or replacement parts call: 888.549.7350.

To obtain and review a copy of the warranty please visit CatalystFence.com. 
You may also contact us at 888.549.7350 or email info@CatalystFence.com.

Components for 6' Kits Includes:

Components for 8' Kits Includes:

Qty Description
1 Single "A"
7 Basic Double
1 Single "B"
8 #8 x 5/8" in. Screws

Qty Description
1 Single "A"
9 Basic Double
1 Double "B"
11 #8 x 5/8" in. Screws

Phillips Head Screwdriver
Safety Glasses
"C" Clamps
Tape Measure

TOOLS/MATERIALS NEEDED:BEFORE YOU BEGIN:

Check your local zoning laws.
•  Local zoning laws and Home Owners Associations 

may regulate the location, style or even require a 
permit signoff beforehand.

Single "A"

Single "A"

Basic Double Circle

Basic Double Circle

Single "B"

Double "B"

NOTE:
Attach the circles at the center of every other picket with the self-tapping screws provided.  
Pilot holes are not required. Clamp the Double Circles in place with "C" clamps covered with cloth to prevent marring 
the finish and use a power drill to attach circles with screws.



3Catalyst™ Fence Solutions

For both 6' and 8' panels, start with the Single "A" Circle 
placed at the first picket and add the Basic Double 
Circle (Fig. 1).

Gently clamp in place with a "C" clamp and attach with 
self-tapping screws provided (Fig. 2).

Continue attaching Double Circles across panel from left to 
right (Fig. 3).

Final circle for 6' panels is a Single "B" Circle. Final circle 
for 8' panels is a Double "B" Circle.(Fig. 4)

NOTE:
The Double "B" Circle has an additional mounting screw 
location.

1.

2.

3.

4.

Equal Spacing

Fig. 1

Fig. 2

Fig. 3

Fig. 4



4 Catalyst™ Fence Solutions



5Catalyst™ Fence Solutions

WEB REV 1.25

CERCLES POUR CLÔTURES 
EN ALUMINIUM

5

Pour enregistrer votre produit, 
visitez le: CatalystFence.com.

Lire attentivement les 
instructions avant d'installer le 
produit.

Suivre les directives de 
sécurité du manufacturier lors. 
d'utilisation d'outils.

Installations d'installation
English ...................................................................................1

Français ................................................................................ 5

Español.................................................................................9

En cas de réclamation au titre de la garantie, appelez 
888.549.7350.



6 Catalyst™ Fence Solutions

AVERTISSEMENT:
•  Une mauvaise installation du produit peut causer des blessures. Toujours porter des lunettes de 

sécurité lors de la coupe, du perçage et de l'assemblage du produit.
•  Une installation incorrecte est susceptible de causer des dommages au produit ou des blessures aux 

personnes.
•  Ce produit n'est pas approuvé pour les piscines.

AVIS:
•  NE PAS tenter d'assembler le kit s'il y a des pièces endommagées ou manquantes.
•  Ne pas retourner le produit au magasin. Pour obtenir de l'aide ou des pièces de remplacement, 

composer le 888.549.7350.

Tournevis Phillips
Lunettes de sécurité
Serre-joints en " C "
Ruban à mesurer

OUTILS/MATÉRIAUX 
NÉCESSAIRES:

AVANT DE COMMENCER:

Vérifier les règlements sur le zonage.
•  Il est possible que les règlements sur le zonage 

ou des associations de propriétaires puissent 
réglementer l'emplacement et le style de la 
clôture ou même exiger l'obtention d'un permis 
avant le projet.

Pour obtenir et examiner une copie de la garantie, visitez CatalystFence.com. Vous pouvez également nous appeler 
au 888.549.7350 ou nous envoyer un courriel à info@CatalystFence.com.

Composants pour les kits de 6 pi (183 cm):

Composants pour les kits de 8 pi (244 cm):

Quant. Description
1 " A " simple
7 doubles réguliers
1 " B " simple
8 vis no 8 x 5/8 po (14 mm)

Qty Description
1 " A " simple
9 doubles réguliers
1 " B " double
11 vis no 8 x 5/8 po (14 mm)

" A " simple

" A " simple

doubles réguliers

doubles réguliers

" B " simple

" B " double

NOTE:
Fixer les cercles au centre de chaque deuxième piquet à l'aide des vis autotaraudeuses fournies. Il n'est pas 
nécessaire de percer d'avant-trous. Fixer les cercles doubles au moyen de serre-joints en " C " recouverts de tissu 
pour ne pas abîmer la finition, et utiliser une perceuse électrique pour fixer les cercles avec des vis.



7Catalyst™ Fence Solutions

Espacement égal

Pour les panneaux de 6 pi (183 cm) et les panneaux de 8 pi 
(244 cm), commencer par placer un cercle " A " au premier 
piquet, puis ajouter un cercle double régulier (Fig. 1).1. Fig. 1

Serrer doucement les cercles en place au moyen d'un 
serre-joints en " C ", puis fixer les cercles à l'aide des vis 
autotaraudeuses fournies (Fig. 2).2. Fig. 2

Continuer à fixer des cercles doubles sur le panneau en 
travaillant de gauche à droite (Fig. 3).3. Fig. 3

Le dernier cercle pour les panneaux de 6 pi (183 cm) est un 
cercle " B " simple.

Le dernier cercle pour les panneaux de 8 pi (244 cm) est 
un cercle " B " double (Fig. 4).

NOTE:
Le cercle " B " double a un emplacement supplémentaire 
pour une vis de montage.

4. Fig. 4



8 Catalyst™ Fence Solutions



9Catalyst™ Fence Solutions

WEB REV 1.25

CÍRCULOS DE VALLA  
DE ALUMINIO

9

Para registrar su producto, 
visite: CatalystFence.com.

Lea todas las instrucciones 
antes de la instalación del 
producto.

Consulte las instrucciones 
de seguridad del fabricante 
cuando se vaya a utilizar 
alguna herramienta.

Instrucciones de Instalación
English ...................................................................................1

Français ................................................................................ 5

Español.................................................................................9

En caso de reclamación de garantía, llame 
888.549.7350.



10 Catalyst™ Fence Solutions

ADVERTENCIA:
•  La instalación incorrecta de este producto puede resultar en lesiones corporales. Utilice siempre gafas 

de seguridad al momento de cortar, taladrar y ensamblar el producto.
•  La instalación incorrecta puede causar daños al producto o a la persona.
•  No aprobado por el código de piscinas

AVISO:
•  NO intentar ensamblar el kit si faltan piezas o las piezas están dañadas.
•  NO devolver el producto a la tienda. Para obtener ayuda o piezas de repuesto, llame al: 888.549.7350.

Destornillador Phillips
Gafas de protección
Mordazas en forma de "C"
Cinta métrica

HERRAMIENTAS Y 
MATERIALES NECESARIOS:

ANTES DE COMENZAR:

Revise las leyes de zonificación locales.
•  Las leyes de zonificación locales y las 

asociaciones de propietarios de viviendas pueden 
regular la ubicación, el estilo o incluso requerir la 
expedición previa de un permiso.

Para obtener y revisar una copia de la garantía, sírvase visitar CatalystFence.com. También puede contactarnos en el 
888.549.7350 o enviar un correo electrónico a info@CatalystFence.com.

Los componentes para los kits de 6 pies incluyen:

Los componentes para los kits de 8 pies incluyen:

Cant. Description
1 "A" sencillo
7 Doble básico
1 "B" sencillo
8 Tornillos #8 de 5/8"

Qty Description
1 "A" sencillo
9 Doble básico
1 "B" doble
11 Tornillos #8 de 5/8"

"A" sencillo

"A" sencillo

Doble básico

Doble básico

"B" sencillo

"B" doble

NOTA:
Fije los círculos en el centro de cada dos estacas con los tornillos autorroscantes suministrados. No es necesario 
taladrar agujeros piloto. Sujete los círculos dobles en su lugar con mordazas en forma de "C" cubiertas con tela para 
evitar que se estropee el acabado y utilice un taladro eléctrico para fijar los círculos con tornillos.



11Catalyst™ Fence Solutions

Espacios iguales

Tanto para los paneles de 6 pies como para los de 8 pies, 
comience con el círculo "A" sencillo que se coloca en la 
primera estaca y añada el círculo doble básico (Fig. 1).1. Fig. 1

Sujételo suavemente con una mordaza en forma 
de "C" y fíjelo con los tornillos autorroscantes 
suministrados (Fig. 2).2. Fig. 2

Continúe fijando los círculos dobles a lo largo del panel de 
izquierda a derecha (Fig. 3).3. Fig. 3

El círculo final para los paneles de 6 pies es un círculo "B" 
sencillo.

El círculo final para los paneles de 8 pies es un círculo "B" 
doble (Fig. 4)

NOTA:
El círculo "B" doble tiene una ubicación de tornillo de 
montaje adicional.

4. Fig. 4



12 Catalyst™ Fence Solutions
© 2024 Catalyst™ Fence Solutions is an Oldcastle® APG Outdoor Brand. CAT24-D-241945

Catalyst™ Fence Solutions 
400 Perimeter Center Terrace
Suite 1000
Atlanta, GA 30346

CatalystFence.com • 888.549.7350


